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“nubrle+ud [ 25
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[C=28.19 [ps/c 7
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3 po 3926 + 0.0
- pl -36.56 + 0.00

[ C=27.35][ps/ 7
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F C =27.86 [ps/d .

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 6
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© 1 nu.2yne+u4 | 25
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TVC(c,b,ch)=(0, 6,7

- nu blge+u4 / 25
.. po 3903+ 0.0
- pl -35.14+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 6, 11

T nuis r3/e+04 /25
- po 3954+ 0.0
- p1 -37.74 % 0.00
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-1z Boze+ud | 25
. PO 3926+ 0.0
- pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (O 7,8

T 1nug psoe+u4 / 25
P PO 3930+ 0.0
- pl -36.88+ 0.00
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:- pO 3924+ 0.0
- pl -36.34 + 0.00

[C=27.52[ps/c 7
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F = pl -36.41+ 0.00
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TVC(c,b ch) (0, 7

T nug, Ubde+l}4/25
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- p1 -37.28+ 0.00
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[ C =28.38 [ps/c 7
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TVC(c,b,ch)=(0, 8,5

-1 nu Buge+u4 / 25
. po 3926+ 0.0
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[ C =28.86 [ps/c 7
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TVC(c,b,ch)=(0, 8,9
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1
50 100

TP delay [ns]
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- pl -37.34+ 0.00

rC=26.78 [ps/ ]
g 10‘3-'
TP delay [ns]

=(0,8,2)

TVC(c,b,ch)
T

4000 =
b

3000 =

2000~

/]

K71 nuiz sove+ud / 25
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p1 -35.99 + 0.00
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TVC(c,b,ch)
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pL -35.94 + 0.00
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TVC(c,b,ch)=(0, 8,7

- rnug31ie+ud [ 25
- po 3944+ 0.0
- p1 -35.8+ 0.0
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TVC(c,b,ch)=(0, 8, 11

1 nuig ogoe+u4 / 25
.. pO 3969+ 0.0
- pl -37.03+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 8, 15

T inusagie+ud [ 25
;- po 3952+ 0.0
- pl -36.75+ 0.00

 C=27.21[ps/C 7
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T rnuig.zuie+u4 / 25
- po 3927+ 0.0
- p1 -35.57 + 0.00
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- po 3918+ 0.0
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™ Pl 3596+ 0.00

- C =27.81 [ps/c .
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TVC(c,b,ch)=(0, 9, 10

© 1 nug puge+U4 / 25
E PO 3950+ 0.0
| " p1 -36.19 + 0.00
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[ C=27.98 [ps/c ]
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TP delay [ns]

TVC(c,b,ch)=(0,9,7

- 1. 458e+04 | 25
- po 3911+ 0.0
- pl -36.94 + 0.00

[ C=27.07 [ps/ ]
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TP delay [ns]

TVC(c,b,ch)=(0, 9, 11

T nuigarie+ud [ 25
F po 3941+ 0.0
- pl -36.92 + 0.00
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- po 3934+ 0.0
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[ C =29.08 [ps/c ]
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. T rnuzazie+u4 | 25
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- pl -36.82+ 0.00

rC=27.16 [ps/ ]
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T a0 /e+u4 /25
F PD 3922+ 0.0
- pl -35.5+ 0.0

C=28.17 [ps/c ]
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[C=28.94[ps/c 7
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-1 U b34e+u4 [ 25
;- DU 3923+ 0.0
- pl -37.55+ 0.00

I C=26.63[ps 7
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TVC(c,b ch) (0, 10

T nu.338e+U4 / 25
- pO 3929+ 0.0
- pl -36.79+ 0.00

rC=27.18 [ps/ 7
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TVC(c,b ch) (0.10,6

-1 nu buze+ud [ 25
b pO 3930+ 0.0
[ "= pl -36.98:+ 0.00
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TVC(cbch) (0, 10 10

©1nug zobe+ud | 25
= DO 3949+ 0.0
F o= pl -36.88 + 0.00
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-1 nu ggze+u4 / 25
:_ pO 3948+ 0.0
- pl -37.46  0.00

I C=26.70 [ps ]
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TVC(cbch) (o, 10 1

~ . gbae+u4 [ 25
- p0 3957+ 0.0
- pl -35.38+ 0.00
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TVC(cbch) (0,10,15

T nuiz, rsse+ud [ 25
;- pO 3947+ 0.0
- p1 -37.41+ 0.00
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TVC(c.b,ch)=(0, 11, 4

T - 1nuz198e+04 / 25
L PO 3881+ 0.0

-
- pl -34.28 + 0.00

[C=29.17 [ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 11 8

— T 3.0ze+u4 /25
P PD 3899+ 0.0
- pl -34.93+ 0.00

C =28.63 [ps/c ]
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- 1nu 1Z20e+04 / 25
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[ C=28.50 [ps/c 7]
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- pO 3913+ 0.0
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TVC(cbch) (0, 11 10

T g, 11e+ud 1 25
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- pl -34.53+ 0.00
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TVC(cbch) (0,11,7

-1 nu.439e+04 / 25
- pO 3912+ 0.0
- p1 -34.42+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

1 nuis.u4oe+u4 / 25
- p0 3921+ 0.0
" pl -35.47 + 0.00
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C po 3903+ 0.0
-

- Pl 33,03+ 000

TP delay [ns]

TVC(c,b,ch)=(0, 12,8
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- Po 3899+ 0.0
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[ C=27.07 [ps/ ]
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-
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- pl -36.91+ 0.00
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~ i, ssse+ud [ 25
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pl -38.26 + 0.00
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TVC(c,b,ch)=(1, 15, 4
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2000 [~

woo- C = 27.20 [ps/ ]

X" 1 nugble+u4 [ 25
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p1 -36.76 + 0.00
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4000

3000

2000

1000

T nuiL128e+U5 / 25
po 3957+ 0.0
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TP delay [ns]

TVC(c,b,ch)=( 1, 15, 13

4000 =
b

-
-

3000

2000

w00 C = 28.01 [ps/c .

~ 1z, yabe+u4 [ 25
Y 3935+ 0.0
pl -35.7 + 0.0

P
100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=( 1, 15, 2)

X~ 1wz soze+U4 [ 25
k= po 3911+ 0.0
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TVC(c,b,ch)=( 1, 15, 14

4000

3000

2000

1000

- iz gare+04 | 25
F. PO 3048+ 0.0
F ™ pl -35.04 + 0.00

P R R B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 15, 3)
- T

A” 1 nuizar4e+04 [ 25
. PO 3912+ 0.0
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- PO 3938+ 0.0
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[ C =28.36 [ps/c ]
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50 100
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TVC(cbch) (2,0,12
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-

- pl -34.68 + 0.00
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50 10‘0
TP delay [ns]

TVC(cbch) (2, 0 10

©1nug p3ve+ud | 25
- DO 3925+ 0.0
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T nuig s3Ye+u4 / 25
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T nuis 118e+ud [ 25
P PO 3918+ 0.0
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T g 3pbre+u4 [ 25

L pO 3901+ 0.0
-

[ PL_ -36.06% 0.00

FC = 27.73 [ps/& .
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T g p3le+ud [ 25
_:- DO 3945+ 0.0
- pl -36.12+ 0.00

- C = 27.68 [ps/c ]

|
50 100

TP delay [ns]

TVC(cbch) (21,14

~ 1 nuigpode+ud / 25
- PD 3921+ 0.0
[“w p1 -36.5+ 0.0

- C = 27.40 [ps/ 1
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- pl -38.14 + 0.00
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TVC(c,b,ch)= (2 1,7

T S U 33/e+04 / 25

o PU 3902+ 0.0
-

- pl -35.97 + 0.00

[ C=27.80[ps/C ]

50 100
TP delay [ns]

TVC(cbch) (2, 1 11

T/ (9e+u4 [ 25
- p0 3943+ 0.0
- pl -36.84+ 0.00

[C=27.14 [ps/C ]
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50 100
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[ C=27.67 [ps/c ]
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TVC(cbch) (2,2,0)

Tonanz.s4e+04 125
4000 : pO 3884+ 0.0
- p1 -35.29+ 0.00
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woo- C = 28.34 [ps/c ]
-
1

1
50 100

TP delay [ns]

TVC(cbch) (2,24
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3000

2000

1000

-1z 3obe+u4 / 25

o PO 3888+ 0.0
-

- pl -37.52+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

4000 =

3000~

2000 [~

T, r1pe+u4 / 25
- PD 3898+ 0.0
- pl -35.48 + 0.00

wool- C = 28.19 [ps/c ]

0 50
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[ C=27.42[ps/ ]
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50 100
TP delay [ns]

TVC(c,b ch) (2 2,5

Crnubrze+u4 [ 25
pO 3882+ 0.0
- pl -36.43 + 0.00

C =27.45 [ps/ ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 2

-1 nuy.uyve+ud / 25
- DO 3939+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(C, bch) (2,213

T nuizasze+ud [ 25
- pO 3921+ 0.0
- p1 -36.5+ 0.0
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TP delay [ns]

TVC(cbch) (2,2,6

- rnu gzee+u4 | 25
- pO 3890+ 0.0
[~ pL -37.28+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2, 10

T, r34e+04 / 25
- DO 3928+ 0.0
| = pl -36.29 + 0.00
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3000
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1000
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C po 3893+ 0.0
-

- pL -37.84 % 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

- rnu glze+ud [ 25
C pO 3894+ 0.0
- p1 -37.17+ 0.00

4000F
000k ]
000k ]
w0 C = 26.91 [ps ]

0 5 10'-0
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TVC(c,b ch) (2, 2

4000 -

3000

2000

1000

ERALEVX babe+u4/25
- p0 3926+ 0.0
- pl -35.63+ 0.00

TP delay [ns]

TVC(C, bch) (2,215

4000 =

3000 -

2000 -

1000 [~

T inuizoo/e+ud [ 25
F. PO 3926+ 0.0
- pl -35.97 + 0.00

C =27.80 [ps/C
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TVC(c,b,ch)=(2, 3,0)

T A1 nuzusse+ud [ 25
4000 po 3902+ 0.0
L p1 -36.91+ 0.00
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50 100
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T,/ r3e+u4 [ 25
- po 3919+ 0.0
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. -1 nu ba4e+u4 [ 25
3 po 3901+ 0.0
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[ C=27.88[ps/C 7]

50 1(;0
TP delay [ns]

TVC(c,b,ch)=(2, 3,9

-1 nu.Uyse+ud / 25
;- po 3946+ 0.0
- pl -37.83+ 0.00

C=26.43[ps 7
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50 100

TP delay [ns]
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E po 3920+ 00
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- C = 27.66 [ps/c .
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;- po 3969+ 0.0
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50 100
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-1 nuis.ugle+ud / 25
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50 100

TP delay [ns]
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-1 nuiz vbae+ud [ 25
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[ C=27.60 [ps/C
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b
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4000 =

3000

2000

1000

~1nuiz.44ve+04 | 25
po 3957+ 0.0
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1 1
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TVC(c,b,ch)=(2, 4,5

. - 1nublye+ud / 25
;- p0 3920+ 0.0
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[ C=27.68 [ps/C 7]

50 1(;0
TP delay [ns]

TVC(c,b,ch)=(2, 4, 9

“onail/1e+u4 /25
;- po 3949+ 0.0
- pl -37.64+ 0.00

[ C=26.57 [ps/ 7
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50 100
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- pl -35.29+ 0.00
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50 100
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- PD 3908+ 0.0
-, pl -36.82+ 0.00

C =27.16 [ps/ ]

I C

%

50 100

TP delay [ns]

TVC(cbch) (211,12

4000 =

3000

2000

1000

~ 1z pvoe+ud / 25
b PO 3938+ 0.0
= pl -35.63 + 0.00

TP delay [ns]

TVC(c,b,ch)=(2, 11, 1)

4000 =

T AT 1 nuiziize+ud [ 25

= po 3891+ 0.0
-

- pl -36.32+ 0.00

3000 ]

2000k ]

1000 C = 27.53 [ps/ ]
% s

TP delay [ns]

TVC(c,b ch) (2,11,5

4000 =

3000 -

2000

1000 [~

- 1nu.zole+u4d [ 25
C pO 3898+ 0.0
- Pl -35.84 0.00

C =27.90 [ps/c 7]

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 =

3000

2000

1000

T nurB1be+u4 / 25
- pO 3933+ 0.0
" pl -36.16 + 0.00

50 100

TP delay [ns]

TVC(cbch) (2,11,13)

4000 =

3000

2000

1000

i zsZe+04 [ 25
- pO 3940+ 0.0
", pl -35.48 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 2, 11, 2)

4000 =
3000
2000~

1000 [~

T AT 1nug zsse+u4 [ 25
- po 3899+ 0.0
o= pl -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (2,11,6

4000 =
3000~
2000 [~

1000 |~

- C =27.75 [ps/c .

- rnug z3ge+u4 | 25
o PO 3906+ 0.0
o= pl -36.04 + 0.00
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TP delay [ns]

TVC(ebch)=(2, 11, 10

4000 =
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2000
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© U, (yoe+u4 / 25
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4000
3000
2000

1000
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_L 1
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TVC(cbch) (2,11,7
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1000
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2000
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TP delay [ns]
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4000 =
ke

3000~

2000~

100 C = 28.59 [ps/c ]

T 1nug.48/e+04 / 25
PD 3913+ 0.0
p1 -34.97 + 0.00

50

100

TP delay [ns]

TVC(cbch) (212,12

4000 =
ke

3000

2000

1000

©1nuizpyse+ud | 25
PO 3946+ 0.0
pl -36.31+ 0.00

100

TP delay [ns]

4000
-

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
b

3000

2000

1000

TVC(cbch) (2, 12 1)

- waiodzeud | 25
pO 3890+ 0.0
pL -38.35+ 0.00

TP delay [ns]

TVC(cbch) (2,125

rC=27.15[ps/ 7
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TVCEebeh)=(2 12,9
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1000

4000
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L
50 100
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50 100
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", pl -35.29 + 0.00
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-1 nuis.uyoe+ud / 25
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- pl -35.29 + 0.00
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T rnuiLyize+u4 [ 25
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-
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TVC(Cbch) (2, 13 4

T rnuaiLyy/e+ud / 24
L pO 3907+ 0.0
- p1 -40.18+ 0.00

TP delay [ns]

TVC(cbch) (2,13,8

- i 525e+04 | 25
E pD 3905+ 0.0
- p1 -36.17 £ 0.00

TVC(cbch) (2,13,1)
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AT 1w 81e+U4 /25
po 3919+ 0.0
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- pl -36.65+ 0.00
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ook ]
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TP delay [ns]
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4000 =

3000

2000
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- pl -39.66 + 0.00

TP delay [ns]

TVCEbeh)=(2 13,9

4000 =

3000

2000

1000

Tinan /. 9ye+u4 | 25
- pO 3939+ 0.0
- pl -34.99 + 0.00

[ C=27.65[ps/C ]

0 50
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100
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TP delay [ns]
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pO

- p1

iz 1u4e+04 / 25
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-
L n n n n | -
50 100

TP delay
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TVC(c,b ch) (2, 13 13

TonanLyre+ud [ 25
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4000 F
I- pO
- p1
3000~
2000 [

100 C = 27.63 [ps/C * ]
O E— 10'3 *
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4000

2000

1000

4000

3000
2000
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4000
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4000
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1000
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E po 3909+ 0.0
-

(= p1 -36.62:+ 0.00

3000

1
50 100

TP delay [ns]

TVC(Cbch) (2, 13 6

©1nu,448e+04 | 25
E pO 3924+ 0.0
L= pl -39.79 + 0.00

TP delay [ns]

TVC(Ee b eh)=(2, 13, 10

©1nuig.4y3e+ud [ 25
= pO 3945+ 0.0
[ - pl -35.56 + 0.00

TVC(cbch) (2,13,3)

AT 1nuiL o/e+u4 /25
4000 po 3918+ 0.0
" pl -37.15+ 0.00
3000 - 7]
2000 7]
w00 C = 26.92 [ps 7]
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0 =% 100
TP delay [ns]

TVC(c,b Ch) (2, 13 7

4000 =

3000

2000

1000

-1 nu zgoe+u4 / 25
pO 3930+ 0.0

-
- p1 -39.28+ 0.00

TP delay [ns]

TVC(eheh)=(2,13, 11

4000 =

3000 -

2000~

~ 1 nuiz ogge+u4 / 25
- pO 3939+ 0.0
- p1 -36.5+ 0.0
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TP delay [ns]
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P R R
50 100
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4000
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2000

1000
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L1 -
50 100
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© L, rose+u4 [ 25
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50 100
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TVC(c,b,ch)=(2, 14, 4
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3000

2000

1000
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-
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50 100
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4000

3000

2000
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%

50 100
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4000

3000

2000

1000
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50 100
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1000
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: po 3878+ 0.0
" pl -36.16 + 0.00
r C=27.65[ps/ 7
0 r
50 100
TP delay [ns]

TVC(c,b,ch)=( 2, 14, 5

T 24 7e+04 [ 25

C po 3901+ 0.0
-

- Pl 37.47000

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 9

-1 nuiLyule+us / 25
3 po 3940+ 0.0
- pl -37.55+ 0.00

[ C =26.63[ps/ ]
1 ,
50 100

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 13

- 1uiz.yy4e+u4 | 25
- po 3905+ 0.0
- pl -37.28 + 0.00

rC=26.82[ps ]
* g‘ﬁ — — 10’0 *
TP delay [ns]

TVC(c,b,ch)=( 2,

4000 -~ T
b

3000~
2000~

wol- C = 27.81 [ps/

14,2)

~1nuz,uu4e+ud [ 25
po 3879+ 0.0
pl -35.95 + 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=( 2,

4000 =
ke

3000

2000 [~

wol C = 27.24 [ps/

0 1

14,6
X

- 1nuz143e+04 [ 25
LY 3912+ 0.0
pl -36.72:+ 0.00

50

|
100

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 10

4000 =
e

3000

2000

1000

T, r18e+u4 / 25
po 3951+ 0.0
pl -37.43+ 0.00

0

TP delay [ns]

4000 =
ke

3000~

2000~

wol- C = 27.45 [ps/

o) R ——

TVC(c,b,ch)=( 2, 14, 14

T nug,u43e+u4 [ 25
po 3910+ 0.0
pl -36.43 + 0.00

50

1=
100

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 3)

4000 -
b

3000 -

2000 -

loooF C = 28.64 [ps/c ]

T AT 1nuiLy31e+u4 /25
PO 3893+ 0.0
pl -34.92+ 0.00

L
50 100

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 7

© U 333e+04 / 25
po 3912+ 0.0
p1 -36.26+ 0.00

4000 ;
3000 -1
2000 [~ s -
w00 C = 27.58 [ps/C ]
| T
50 100
TP delay [ns]

TVC(c,b,ch)=(2, 14, 11

4000 =
b,

3000

2000

1000

T nuig 1) e+ud [ 25
po 3952+ 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 2, 14, 15

4000 =
k.

3000

2000

1000

Tz, r3be+u4 [ 25
PO 3914+ 0.0
pl -36.07 + 0.00

TP delay [ns]



TVC(c,b,ch)=( 2, 15,0)

4000 =

3000 -

2000 =

1000 |~

T A7 1 nuig suve+ud / 25

C po 3878+ 0.0
-

- p1 -35.84+ 0.00

C =27.90 [ps/c ]

1
50 100

TP delay [ns]

TVC(Cbch) (2, 15 4

4000~

3000 -

2000 [~

1000 [~

-1 bb4e+04 [ 25
C pO 3893+ 0.0
- p1 -35.84+ 0.00

C=27.90 [ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T g, roge+u4 [ 25
- po 3905+ 0.0
- pl -36.87 + 0.00

4000 =

3000~ 7

2000 [~ 7

100 C = 27.12 [psl/ ]
0 = 5

TP delay [ns]

TVC(Cbch) (2, 15 12

4000 =

3000

2000

1000

~rnuzsu4e+04 [ 25
- pO 3925+ 0.0
- p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b,ch)=(2, 15, 1)

4000 =

3000

2000 -

1000 |~

. X~ 1 iz, 39004 | 25

o po 3890+ 0.0
-

" pL -35.72.+ 0.00

C =27.99 [ps/c 7

1 1
50 100
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TVC(c,b Ch) (2, 15 5

4000

3000 |-
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1000 [~
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TVC(ebeh)=(2 15,9

4000 =

3000

2000

1000
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- p1 -36.27 + 0.00

TP delay [ns]
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4000 =

3000

2000

1000
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- pO 3918+ 0.0
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1000
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3000
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4000
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ey pl -35.77 + 0.00

3000

1
50 100

TP delay [ns]
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1000

0
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TP delay [ns]
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50 100
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50 100
TP delay [ns]
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T nuig 15ze+u4 / 25
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- pl -35.75+ 0.00

TP delay [ns]
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T nuiz sbze+ud [ 25
- PO 3934+ 0.0
- pl -33.45+ 0.00

TP delay [ns]
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4000 =
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1000
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TVC(cbch) (3 0,8

4000 =

3000~
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- PD 3886+ 0.0
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|
50 100
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